Aled © (=
k=1 Jo) -||
— e | LI T'_'Z
1. 7_2?:_1EH —2$+3y_<4]71l_%? 6. 2yz#0,2y=a,yz=0, 2z =c¥ W, 22 + 3% + 22
3 3¢ =y o] 2k2 a, b, col ko] vk A vebd 2129
5 5 1
_< e - b b b b
@ 3 3 ®2 ®£+%+a7 ®£+%+Q7
1 c a b b c a
c b a b a c
bc ac ab
® = >t
2. 5o0—-2y=-da+y—-3<d W, 5x-2y+5E5 2l
ek 402 Uehojet,
7. a b c
:_101 _
abe E]IH’ab—i—a—1+bc—&—b—|—1 ca—c—1
o k& Fotolet.
3. A:%,B:L;H%EH,A_
{B—(2A -B)} & z, y & AA Yozt
8. F o A, Bo tist] A = —a+3b, B = 2a—4b+c
A, 2(A+B)— (A+B) S a, b, co T Aoz
e AE?
D a-b+e @ 10b—c¢
® 5a —9b+ 3¢ @ 11la—9—c
4. A=x-2y,B=2z—-y+34 M, 4 A—(B-A) -
9B +5% x, yoll T3 Alo 2 Yerfu? ® 9a—11b+ec
® 3z—-3y+3 @ -3z —4y+3
@ —dx—y—4 @ —dr—y+14
9. 8r—2y+2=4do—-y-3 LM, 22 -3y+1& x|
©® 4z Ty+4 P 4oz Lehyw?
@O —10x+ 16 @ —10x — 14
® 12z + 16 @ 10x — 14
5. T HEAE y of #sto] Eofet
® 10z — 16

(Bx—5y):T=(x—y):2




10. »

w(zy +yz) +y(yz + za) + 2(22 + zy)

)

z

6

4

ofzt.

TYz

_(_)/]

9

&

tlo

-
ot
=




